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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q1 Which of the following ministries launched the PRASAD Scheme in 20172
Ans X 1. Defence
/< 2 Home Affairs
v 3 Tourism

/< 4. Health and Family Welfare

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

6789134293

67891317169
67891317171
67891317170
67891317172
Not Answered

|

X 4. S@efet

s X1 IATSORAEN
v 2 wEEEREr T4t

X 3. ROIPEGIE =&t
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

6789134279

67891317114
67891317113
67891317115
67891317116

: Not Answered
Chosen Option :

Q.3




A M T C
1 13 20 ]
A B C D
Ans X1.C
X2B
X3 A
v 4D
Question ID : 6789134247
Option 11D : 67891316987
Option 2 ID : 67891316986
Option 31D : 67891316985
Option 4 ID : 67891316988
Status : Answered
Chosen Option : 4
Q.4 a5t (e [y smew frge [ w1 eew [ 0w T MFo-(ET fgh am 40% T SENED
fsh () afe e, @R s f&F T ¥ 6,00.0001 MG-(IE G SO (MG EE A6E
& w9 G =37
Ans .
v 1. ¥1,20,000
X 2 ¥ 2,30,000
X 3 ¥ 2,50,000
< 4 % 3,00,000
Question ID : 6789134243
Option 11D : 67891316969
Option 2 ID : 67891316970
Option 31D : 67891316972
Option 41D : 67891316971
Status : Answered

Chosen Option: 1

number was thrice that between that middle number and the least one. The largest of the three numbers was:

Q.5 The mean of three numbers was 35: the range of the data was 24. The difference between the largest and the middle

Ans  of 1. 49
X 2 50
X 3 5]
X4 52
Question ID : 6789134221
Option 11D : 67891316881
Option 2 ID : 67891316882
Option 31D : 67891316883
Option 4 ID : 67891316884
Status : Not Attempted and Marked For Review
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Chosen Option : --

(A, O SFel T FH| 798 g = 10ms?

Ans  of 1333,33 W
X 2 333,34
3 333,34 ms
X 4387.5 W

Q.6 5o foEmam SEE a9 (aE, 40 ATEE 99T Sibe o oW o@ At weE Swel 15 CifehnE

Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Question ID :

6789134261

1 67891317041
167891317042
: 67891317044
167891317043

Status : Answered
Chosen Option: 1

Q7 G e stoNE ey T

B[a AT © 5

Ans of 1. 2.8
X 2 3.3
X 3 2.5
X 43,2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134222
67891316886
67891316888
67891316885
67891316887
Answered

1

Ans X 1.0
X273
X3 2
v

10 @ 20 97 Wy G WASfE LS W |

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789134203
67891316809
67891316811
67891316810
67891316812
Answered

4
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Ans X1 Ca(OH),

< 2. HNO,
X 3 CO,
v 4 H,S0,
Question ID : 6789134269
Option 11D : 67891317076
Option 2 ID : 67891317074
Option 31D : 67891317073
Option 4 ID : 67891317075
Status : Answered
Chosen Option : 4
Q.1 4 =R 25,000 SAT Y& R TA 25 AT AT (AL Gft TET o wEE Aus T §w @@
0 =
Ans X 1. 1%
X2 0.10%
X3 0.60%
v 4 0.25%
Question ID : 6789134212
Option 11D : 67891316848
Option 2 ID : 67891316847
Option 31D : 67891316846
Option 4 ID : 67891316845
Status : Answered
Chosen Option : 4
AT 2018 WIETA SCEFRAF ST TFACH F5E [FOn (3 SAAS EE?
A X aiferel A
X 2 AT AWl
V' 3 FOE (BEAE
X4 @FEF (OTFEIEs
Question ID : 6789134281
Option 11D : 67891317124
Option 2 ID : 67891317122
Option 31D : 67891317121
Option 4 ID : 67891317123
Status : Answered
Chosen Option: 3

% 6 a7 T wft sffews s© fefT 9

Ans Jy 21
X 2.10.5
X< 315




X435

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6789134223

67891316892
67891316890
67891316891
67891316889

Status : Answered
Chosen Option : 1

Q1 w1 T a3l Bfew ffie g S 0% ww fw Bfet &F 5@ o 7s T© Faee

Chosen Option :

3 maEnE SUE Tewl Fu Y o [SRfeT am fFfieere
Ans X1, 25
X 2 35
V'3 30
X4 20
Question ID : 6789134211
Option 11D : 67891316842
Option 2 ID : 67891316844
Option 31D : 67891316843
Option 4 1D : 67891316841
Status : Answered
Chosen Option: 3
041 1949 H= ®[dted <59 24|
Ae X1 faET
X2 s
v 3. Ffesg
X 4 (FEEg
Question ID : 6789134297
Option 11D : 67891317188
Option 21D : 67891317186
Option 31D : 67891317187
Option 41D : 67891317185
Status : Not Answered
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Question ID : 6789134275
Option 11D : 67891317097




Option 21D : 67891317100
Option 31D : 67891317099
Option 4 1D : 67891317098
Status : Answered
Chosen Option : 1
Q.1
6 ASAMNS O (7
Ans £ ey
K SEE s -ag afedrer
X 2 SEfE Peasf -a7 afedrer
X 3 SEE aeEzed —a7 gfevnel
v S S -a7 afedrer
Question ID : 6789134287
Option 11D : 67891317148
Option 2 ID : 67891317145
Option 31D : 67891317147
Option 4 ID : 67891317146
Status : Not Answered
Chosen Option : --
Q.1 Counsider the following statements to be true even if they seem to be at variance from commonly known facts and decide
7  which of the conclusions logically follows from the statements.
Statements:
* Some monkeys are apes.
s  Some apes are not humans.
Conclusions:
1. Some apes are monkeys.
2. Some humans are monkeys.
Ans X 1. Both conclusions | and 2 follow
v &) Only conclusion 1 follows
/< 3. Only conclusion 2 follows
/< 4. Either conclusion 1 or 2 follows
Question ID : 6789134231
Option 11D : 67891316923
Option 21D : 67891316921
Option 31D : 67891316922
Option 4 ID : 67891316924
Status : Answered
Chosen Option : 2

@ a3 mifet FeE fom 95 smTer el BT e FEEl

Q.1 jaF, JEF, JF, JOF,
8

Ans X 1. PET
X 2 POT
X 3 PIG
W 4 JUF

Question ID : 6789134239




Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

67891316954
67891316956
67891316953
67891316955
Answered

4

U s ST @ R @A) A T @I e e

Ans x-]

- (d|

X2 o
v 3 it
X 4 yTerel BR/(EH

Question ID : 6789134226
Option 11D : 67891316904
Option 2 1D : 67891316903
Option 3 ID : 67891316902
Option 4 D : 67891316901
Status : Answered
Chosen Option: 3
°62 The nucleus model of the atom was first discovered by:
Ans o 1. Ernest Rutherford
/< 2. Niels Bohr
/< 3. Louis Pasteur
/< 4 Dmitri Mendeleev
Question ID : 6789134267
Option 11D : 67891317065
Option 2 1D : 67891317066
Option 31D : 67891317067
Option 4 ID : 67891317068
Status : Not Answered
Chosen Option : --
Q.2
;. fhe B a9 °F $ Sme 127, 17Q, 22N, 27K?
Ans X130 B
X232V
X330 G
v 432 H
Question ID : 6789134238
Option 11D : 67891316952
Option 2 1D : 67891316949
Option 3 ID : 67891316950
Option 41D : 67891316951
Status : Answered
Chosen Option : 4
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Question:

Who is the oldest among P, Q, R and S?

Statements:
L. Pisolderthan Q and S.

2. Risolderthan P.

Ans 1. Statement 1 alone is sufficient.
/< 2. Statement 2 alone is sufficient.

« 3. Statements 1 and 2 together are sufficient.

/< 4. Statements 1 and 2 together are insufficient.

Q.2 Read the given question and decide which of the following statements is/are sufficient to answer the question.

Question ID : 6789134240
Option 11D : 67891316957
Option 2 1D : 67891316959
Option 31D : 67891316960
Option 4 1D : 67891316958
Status : Answered
Chosen Option : 3
Qézxﬁpa‘[(afx,TW—,MW+ﬂaﬁBW+,W 42B6P4T3M8 AF H& Fw?
Ans x 1. 39
X 2 30
X3 36
v 4 33
Question ID : 6789134237
Option 11D : 67891316948
Option 2 ID : 67891316945
Option 31D : 67891316946
Option 4 ID : 67891316947
Status : Answered
Chosen Option : 4
Q.2
2 [AGa aFE Sed wie:
1259 =¢
Ans 1. 0.01
2.0
3..0.1
4.1
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789134224
Option 11D : 67891316895
Option 2 ID : 67891316894
Option 31D : 67891316896
Option 4 1D : 67891316893




Status : Not Answered
Chosen Option : --

Ans X 1. Yitzhak Rabin
< 2. Ehud Olmert
+ 2 Benjamin Netanyahu

X 4 Golda Meir

Qéz As of February 2018, who among the following is the Prime Minister of Israel?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789134291

67891317161
67891317163
67891317162
67891317164
Not Answered

©? GreE THIEET STNEE |
V54 x 6= 7

Ans X119
v 2 18
X316
X 420
Question ID : 6789134205
Option 11D : 67891316817
Option 21D : 67891316818
Option 31D : 67891316819
Option 4 ID : 67891316820
Status : Answered
Chosen Option : 2
Q.2
7 (P "?l'%iﬁ I‘@ﬂ:
A B C D
Ans x 1. B
X2C
X3 A
v D
Question ID : 6789134244
Option 11D : 67891316974
Option 2 ID : 67891316975
Option 31D : 67891316973
Option 4 ID : 67891316976




Status : Answered
Chosen Option : 4
Q.2
g [EAG TEASHE T (FEea Sy STHfES?
e X e
v 2 R
X 3 fgs
X 4 0qEEd
Question ID : 6789134296
Option 11D : 67891317182
Option 2 ID : 67891317181
Option 31D : 67891317183
Option 4 1D : 67891317184
Status : Answered
Chosen Option: 2
Q.2 — = — ~
9 I \E:-Elkﬂi 4R 4l SLIEAEE RHETH (F SHFH Bd:
e X SIRETE fTShe
J 2. ﬁ'ﬁ;ﬁﬂ ["[';:;;?-ﬂ
p @ﬂfﬁ’!ﬁ CIECEOET]
X 4 oy afese
Question ID : 6789134265
Option 11D : 67891317059
Option 2 ID : 67891317058
Option 31D : 67891317060
Option 41D : 67891317057
Status : Answered
Chosen Option : 4
063 69 I CNGIEE AET 3 (0 CNRSIN 7@®| CMGIEE TEIEe 54 F67?
Ans x 1.4
X2 46
s 23
X 469
Question ID : 6789134268
Option 11D : 67891317072
Option 21D : 67891317071
Option 31D : 67891317070
Option 4 ID : 67891317069
Status : Answered
Chosen Option : 3
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Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6789134288

67891317150
67891317151
67891317152
67891317149
Not Answered

93 What is the value of gravitational constant?
Ans o 1 6.6734 x 10711N m? /kg?

X 2 6.67408x 10711 m3kg1s7?

X3 6.6734 x 1071 m?/kg?

X 4 6.6734 x 10~1'N m?2 /kg~2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134259
67891317034
67891317035
67891317036
67891317033
Answered

1

m/s
m/s
m/s

m/s

°é3 TS TROE BIF SIS e e GFE 433 60s 4 288m FOH F@E| ST6 4oF

Ans X'1. 3.8
X2 8.8
X358
v 4.8

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134257
67891317027
67891317028
67891317026
67891317025
Answered

4

5

Q.3 Pallab cycles at the rate of 12 km/hr and walks at the rate of 3.5 km/hr. To cover a distance of 45 km, Pallab took 8
4 hours. How many of these hours were spent cycling?

Ans X1.
-3
2




X4 4

Question ID : 6789134214
Option 11D : 67891316856
Option 2 ID : 67891316854
Option 31D : 67891316853
Option 4 ID : 67891316855
Status : Answered
Chosen Option : 3
Q.3 From a fiuit seller, 12 bought orange. 15 bought guava, 20 bought pineapple. 2 bought all the three and 6 bought at least
5  two of these. Exactly how many bought at least one fruit?
Ans 1. 43
2. 39
3. 25
4. 40
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 6789134252
Option 11D : 67891317007
Option 2 1D : 67891317005
Option 31D : 67891317008
Option 4 ID : 67891317006
Status : Answered
Chosen Option : 1
Q.3 fre Ffm 15 @ ofem @ T 45 TF W TE6 STE [F e FE @E S 0 e
6 o Rl e a3
Ans X 1. 262 BC
X 2 260 BC
X3 264 BC
v 4 261 BC
Question ID : 6789134295
Option 11D : 67891317178
Option 21D : 67891317180
Option 31D : 67891317177
Option 4 ID : 67891317179
Status : Not Answered
Chosen Option : --
Q.3 The energy used in households, industries and commercial establishments is usually expressed in:
7
Ans  of 1. Kilowatt Hour
X 2. Power
X 3. Joule
X 4 Watt
Question ID : 6789134262
Option 11D : 67891317048
Option 2 ID : 67891317045
Option 31D : 67891317047




Option 4 ID : 67891317046
Status : Answered
Chosen Option : 4
Q.3 mrFEE 72 fBE. 30 FEE o= 78 fbm TRAFE J90 Sesghe S TE FAE 2476, 20 AW Gfe
8 oo b BWE = (N6 VS T
Ans X 1.3 228
<22 300
v T 216
X4 Z 316
Question ID : 6789134218
Option 11D : 67891316869
Option 2 ID : 67891316872
Option 31D : 67891316870
Option 41D : 67891316871
Status : Answered
Chosen Option : 3
Qé3xm\rﬂa@i\rﬁrvﬂamMﬁVﬂﬁﬁ?@ﬂ,WMﬂﬁWiﬁXﬂﬁ I
Ans x
1. ﬁfﬁ
K2 @+
NG ICIE]
v ﬁﬂkg{@i GG
Question ID : 6789134227
Option 11D : 67891316906
Option 2 ID : 67891316905
Option 31D : 67891316907
Option 41D : 67891316908
Status : Answered
Chosen Option : 4
Q.4 %#ﬁ | i |
o A g &=d: 2v12 x 5V20 » 3N15=7?
Ans 1. 1500
X 2300
X 31200
v 4 1800
Question ID : 6789134202
Option 11D : 67891316808
Option 21D : 67891316805
Option 31D : 67891316807
Option 41D : 67891316806
Status : Answered
Chosen Option : 4
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Ans X1~ 13
v 2 10

K311
X 412
Question ID : 6789134219
Option 11D : 67891316876
Option 21D : 67891316873
Option 31D : 67891316874
Option 4 1D : 67891316875
Status : Answered
Chosen Option : 2
Q.4
2 HF @Ifjfl‘@ (UF (FH AW Ged o §f® SIEE) e "AME?
HE al@fl'@:
L] 2=
IS
Eﬁﬁ @ITI‘@:
A B ( 1]
d A |
Ans x 1. B
X2
X3D
v A
Question ID : 6789134253
Option 11D : 67891317010
Option 2 ID : 67891317011
Option 31D : 67891317012
Option 4 ID : 67891317009
Status : Answered
Chosen Option: 2
Q.4 i — i
3 ST 999l AT
sin90® | cos0® tan90° | tan45°
A B C D




X 2D
X3 A
v

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6789134245
67891316978
67891316980
67891316977
67891316979
Answered

Chosen Option : 4

U e fAefosfm Ty @@t/ (@@ Ter?

A. 114 6 TAmIeTE wew, 32 6 ommg, a9 seisfd &mgl

A X1 wTE B 3 Sty
X2 A 3B TBTR ey
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B. ffelt =isfxe 496 o foo afelt @y 43t wI=fEs =7 =

Question ID : 6789134273
Option 11D : 67891317090
Option 2 ID : 67891317091
Option 31D : 67891317092
Option 41D : 67891317089
Status : Answered
Chosen Option : 2
Q.4 Inan examination, 40 % of students failed in Maths, 30 % failed in English and 10% failed in both. Find the
5 percentage of students who passed in both the subjects.
Ans 1. 329%
X2 23%
v's 0%
X4 45%
Question ID : 6789134216
Option 11D : 67891316861
Option 21D : 67891316862
Option 31D : 67891316864
Option 41D : 67891316863
Status : Answered

Chosen Option: 3

°é4 Which of the following has minimum optically denser medium?

Ans x 1. Water

v 2 Air




/< 3. Benzene

/< 4 Turpentine

Question ID : 6789134264
Option 11D : 67891317054
Option 21D : 67891317053
Option 31D : 67891317055
Option 4 ID : 67891317056
Status : Answered
Chosen Option : 2
Q4 ft = weg 17 v a7 fed aen TEm, a3 Ot fEE T @ s ¢ a7 aFh e ore
7 zeo1 IR FA® TA?
Ans X175
V2 85 J
X340 J
X4 45
Question ID : 6789134266
Option 11D : 67891317063
Option 2 ID : 67891317062
Option 31D : 67891317064
Option 4 1D : 67891317061
Status : Answered
Chosen Option : 2
Q.4
s (FE (A6 3G Efd M &7
Ans .
X iﬁg
X 2 s
X 3. @Fﬁﬁc"ﬁ
W 4 aEl
Question ID : 6789134283
Option 11D : 67891317131
Option 21D : 67891317130
Option 31D : 67891317132
Option 4 ID : 67891317129
Status : Not Answered
Chosen Option : --
Q.4
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Ans «1

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

6789134255
67891317019

167891317020
Option 31D :

67891317018

: 67891317017
Status :
Chosen Option :

Answered
1

Ans  of 1. DNA copy
/< 2. m-RNA copy
/< 3. RNA copy
/< 4. t-RNA copy

°65 A basic event in reproduction is the creation of a/an .

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134280
67891317118
67891317119
67891317117
67891317120
Answered

1

%° CaOCl, 95 SHET ™ 7
Ans x1_ ﬁﬁgﬁ CIFST

X 2 3R (HTST

X3 @ MSoE

v i f3fe ATSTIE

Question ID : 6789134270




Option 11D : 67891317078
Option 2 ID : 67891317077
Option 31D : 67891317079
Option 4 ID : 67891317080
Status : Answered
Chosen Option : 4
Q5 9 15 27
2 = — A<8 — 49 +.H[.8.
8 * 16 Y3 il
Ans
X1 332
x 2 138
g0
7
v 16-
X 4135
Question ID : 6789134208
Option 11D : 67891316830
Option 2 ID : 67891316829
Option 31D : 67891316831
Option 4 ID : 67891316832
Status : Answered
Chosen Option : 3
QS fafafie sfiearefE Tor @Rl o 9% (@UF W TE T 5
Ans
X1 S=ut+1/,at?
v 2 235 = v2 —u?
A3V = u + at
XK4aU =v + at
Question ID : 6789134256
Option 11D : 67891317022
Option 2 ID : 67891317023
Option 31D : 67891317024
Option 4 ID : 67891317021
Status : Not Answered
Chosen Option : --
045 Who is the present (as of June 2018) Union minister of Commerce & Industries?
Ans X" 1. Amith Shah
« 2 Suresh Prabhu
7< 3. Harsimrat Kaur
/< 4 Nirmala Seetharaman
Question ID : 6789134298
Option 11D : 67891317191
Option 2 ID : 67891317190
Option 31D : 67891317192
Option 4 ID : 67891317189




Status : Not Answered
Chosen Option : --
.5
% wrETE e fEfifie @wsEE W @Els FoFAN aE e
Ans
X I T o
Vo (@ifte TS
X 3 AAEE
X4 f&
(e dGPAPR]
Question ID : 6789134276
Option 11D : 67891317104
Option 21D : 67891317103
Option 31D : 67891317101
Option 4 1D : 67891317102
Status : Answered
Chosen Option : 2

Q.5

TEg balble Fos@ I@ea (W IE?

6789134251
67891317001
67891317003
67891317002
67891317004
Answered

Ans x 1. 70
v 2 60
X 350
X 4 36

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option : 2

0%5 I SR WAE ATITR T GIH 3 AT MY Eed (7 GEY A T O I

e X136 feE
X210 feE
X332 fiBE
v 7 e




Question ID : 6789134263
Option 11D : 67891317052
Option 2 ID : 67891317049
Option 31D : 67891317051
Option 4 1D : 67891317050
Status : Answered
Chosen Option : 4

L SIS ST O STEsE IR (RSN BF W S (N
Ans X 1. 1983

X 21973

X 31999

v 2 2002

Question ID : 6789134282
Option 11D : 67891317127
Option 2 ID : 67891317125
Option 31D : 67891317128
Option 4 ID : 67891317126
Status : Not Answered
Chosen Option : --

Qés ARDC is a branch of which of the following banks?

Ans X' 1. SEBI

X 2. SBI

v 3 NABARD
X 4 RBI

Question ID : 6789134299
Option 11D : 67891317196
Option 21D : 67891317194
Option 31D : 67891317195
Option 41D : 67891317193
Status : Not Answered
Chosen Option : --

Q.6 2017 wE, FET WFF (NETATS e @R AREET S 25 a eEEm S| S @@
eI W e ?

Ans ?(1- ﬁ
X2
A e
v & JBIT

Question ID : 6789134292
Option 11D : 67891317165
Option 21D : 67891317167
Option 31D : 67891317166
Option 41D : 67891317168
Status : Not Answered




l Chosen Option : --
Q.6
) Asfes WAy (FEE AeEE CeS TEE o a1
A
" SEfEsTE AT (SyEfeaE e )
K 2 AP ((FIE )
X3 Ay o (TEE FSE)
X 4 g A4l (5T FTOE)
Question ID : 6789134278
Option 11D : 67891317112
Option 21D : 67891317111
Option 31D : 67891317109
Option 4 ID : 67891317110
Status : Answered

Chosen Option : 1

Y 5 feew & a3?

Ans o 1 TEw (Hg)
X 2 FT (Ag)
X3 g (Au)
K4 fefEEE (L)
Question ID : 6789134274
Option 11D : 67891317094
Option 2 1D : 67891317096
Option 31D : 67891317093
Option 4 ID : 67891317095
Status : Answered
Chosen Option : 1
e was the first ruler of the Khalji dynasty.
Ans X 1. Balban
& 2. Malik Kafur
/< 3. Ala- ud-din Khalji
« 4 Jalal-ud-din Firoz Khalji
Question ID : 6789134294
Option 11D : 67891317176
Option 21D : 67891317173
Option 31D : 67891317174
Option 41D : 67891317175
Status : Answered
Chosen Option : 4
Q.6
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134234
67891316936
67891316935
67891316933
67891316934
Answered

3

Q.6 Consider the following statement and decide which of the assumptions is implicit from the statement.
Statement:
The government of India is planning to conduct recruitment thrice a year for income tax department.
Assumptions:
1. It is doing this because there are more vacancies.

2. The government wants to check all the irregularities in the income tax sector.

Ans 1. Either assumption 1 or 2 is implicit
« 2. Only assumption 1 is implicit
/< 3. Only assumption 2 is implicit

/< 4. Both assumptions | and 2 are implicit

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134232
67891316928
67891316925
67891316926
67891316927
Answered

2

Q.6 1=t wFF Mg T AT 35%| AT IFTX MIAAG@ 119 AT T ATE, ORE G WIA TGS
6 s TmEE AT Fw?

Ans X 1.340 ST
X 2272 A
X 3204 AW
v 4221 S




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6789134217

67891316865
67891316867
67891316866
67891316868

Status : Answered
Chosen Option: 1

7 (¥ AW ) & I IEE

A o a3efanfi RS
X 2 SfEs TR
X5 3O AR
X 4 aifderR TS

Q.6 fmffe mrasfm 761 @@ TRF6 SHeIE TV qAF ATEF TNAEEE T I506 FEEHIHe FEIEES

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134300

67891317197
67891317199
67891317200
67891317198
Not Answered

Ans  of 1. 240 km/h
X 2 320 kih
X 3 180 kmv/h
X 4 220 km/h

Q.6 A bullet train completes its journey without stopping in 12 hours. It would have completed the journey in 10 h 40 min if
8 it had travelled 30 kmvh faster. What was the speed of the train when it took 12 hours to complete the journey?
P p J

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134215
67891316858
67891316859
67891316860
67891316857
Answered

1

% sffc SIEE SEENG A Ay SM=?
Ans X1 09999
v 2. 90000
< 399999
X 419999

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

6789134204
67891316815
67891316814
67891316816
67891316813
Answered




Chosen Option: 2
Q.7 You are given a question and two statements. Identify which of the statements is/are necessary/sufficient to answer the
0 question.
Question:
The chocolate box costs depend on the number of chocolates present in it. the box has how many chocolates?
Statements:
1. Medium size box costs T 1,000.
2. Small size box has 100 chocolates.
Ans 5 1. Either 1 or 2 alone is sufficient
+ 2. Both 1 and 2 together are not sufficient
#< 3. 2 alone is sufficient while 1 alone is not sufficient
< 4 1 alone is sufficient while 2 alone is not sufficient
Question ID : 6789134242
Option 11D : 67891316967
Option 21D : 67891316968
Option 31D : 67891316966
Option 4 1D : 67891316965
Status : Answered
Chosen Option : 2
Q.7 wudiw 30 ff *ASE UG 24 T (WE| 5T ImhE @ 27 oA o o ow wwe w2
1 3 =fefs ~Fwm o6 797 45 =, ONE FEAER T T 99T ARG @ FEE A oft Tawm
e (@ 1 o T Fe T9E e T@7?
Ans X1 37
X 2 35
v': 36
X4 34
Question ID : 6789134225
Option 11D : 67891316900
Option 21D : 67891316898
Option 31D : 67891316899
Option 41D : 67891316897
Status : Answered
Chosen Option: 3
Q.7
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Ans x-]_ B

X2 A
X3 cC
v+ D

Question ID : 6789134246
Option 11D : 67891316982
Option 2 ID : 67891316981
Option 31D : 67891316983
Option 41D : 67891316984
Status : Answered

Chosen Option : 4

Q.7 Mr. X runs a marathon starting from the point A he runs 5 km towards north and reach point B, then turns right runs 6
km reach point C, then turn right rans 8 km and reach point D, then turns right runs 10 km and reach point E, then turns

3

right runs 6 km and reach point F, then turns right runs 1 km and reach point G, then turns right runs 3 km and reach

point H.

The shortest distance between point B and F is?

A X1 45
K25
3 34/5
v 4 245
Question ID : 6789134254
Option 11D : 67891317014
Option 2 ID : 67891317016
Option 31D : 67891317013
Option 4 ID : 67891317015
Status : Not Attempted and Marked For Review
Chosen Option : --
Q.7




‘Which of the following statements is/are true?
A. A balanced chemical equation has an equal number of atoms of all elements in the reactants and products.

B. Anunbalanced chemical equation has an vnequal number of atoms of one or more elements in the reactants and
products.

Ans 1. Only A is true

' 2. A and B are both true
/< 3. A and B are both false
/< 4 Only B is true

Question ID : 6789134271
Option 11D : 67891317081
Option 21D : 67891317083
Option 31D : 67891317084
Option 4 1D : 67891317082
Status : Answered
Chosen Option : 2

Q.7 Select the option that is related to the third word on the same basis as the second word is related to the first word.

5
Army : Soldier : : Galaxy :
Ans X 1. Aliens
/< 2. Milky way
v 3 Planets
X 4 Monsters

Question ID : 6789134229
Option 11D : 67891316914
Option 21D : 67891316916
Option 31D : 67891316915
Option 41D : 67891316913
Status : Answered
Chosen Option : 2
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Question ID : 6789134235




Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

67891316939
67891316937
67891316940
67891316938
Answered

1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134284

67891317133
67891317135
67891317134
67891317136
Not Answered

< 2. Nachiket Mor
/< 3. Viral Acharya

+ 4 YH Malegam

Q.7 Name the veteran chartered accountant and long-standing member of the RBI Board who has been appointed after the
8  Nirav Modi scam to look into fraud risks and non-performing assets of banks,

Ans 1. BP Kanungo

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6789134289

67891317156
67891317154
67891317155
67891317153
Not Answered

Ans

20
3

15 F

10

e

3

14 o

Q.7 fm 12 O 230 F© Fam A0F a5 e 993 B0 SA0G @ 15 OEE AEy | 4G TeAd asHE
9 P18 P, ©F BE M BAGe Pe HAY AqEAF?

Question ID : 6789134213
Option 11D : 67891316850
Option 2 ID : 67891316852




Option 31D : 67891316849
Option 4 ID : 67891316851
Status : Answered
Chosen Option : 1

Q.8 : gL "
o The expression 0.00156000 has significant figures.
Ans X 1.3
v 26
X35
K42
Question ID : 6789134207
Option 11D : 67891316826
Option 21D : 67891316828
Option 31D : 67891316827
Option 4 ID : 67891316825
Status : Answered
Chosen Option : 3
Q.8

fo)
\/

9
Japanese

The diagram represents the number of students in a class who study 3 langvages.

The number of students studying Spanish and Japanese but not French is:
Ans x 1.:89

<21l

s 7

X4 4

Question ID : 6789134250
Option 11D : 67891317000
Option 2 ID : 67891316997
Option 31D : 67891316999
Option 4 ID : 67891316998
Status : Answered
Chosen Option : 4




Ans x 1. A
v2c
X3 B
X 4D
Question ID : 6789134248
Option 11D : 67891316989
Option 21D : 67891316991
Option 31D : 67891316990
Option 4 1D : 67891316992
Status : Answered
Chosen Option : 2
AP ome STe SIEEEEE S frie ST WS (A SEREe
e X0 A @
= [
X 2 A TP
v 2 FEeTS SEPTETE
F r@;{ HIE
Question ID : 6789134286
Option 11D : 67891317143
Option 2 ID : 67891317141
Option 31D : 67891317142
Option 4 ID : 67891317144
Status : Answered
Chosen Option : 3
.8
Q4 X ﬁﬁw fﬁf £ e wld 4qEdrd (diEd 3T £ 29 X a4 |
Ans (
1. é]TE”
X2 fafeE
P |
X 4 FEE S
Question ID : 6789134228
Option 11D : 67891316911
Option 2 ID : 67891316909
Option 31D : 67891316912
Option 41D : 67891316910
Status : Answered

Chosen Option : 1

Q.8 . 3
. The product of mass x velocity is called

Ans X 1. thrust
X 2 force
!’3- momennim




/< 4. pressure

Question ID : 6789134258
Option 11D : 67891317032
Option 2 1D : 67891317029
Option 31D : 67891317030
Option 4 1D : 67891317031
Status : Answered
Chosen Option: 3
Q.8 K,L.M and N are four quantities of same kind, where K :L=3:4,L: M=8:9, M:N=15: 16. Find the ratio of K :
6 N
Ans of 1.5:8
X22:4
X38:0
X 412:16
Question ID : 6789134209
Option 11D : 67891316835
Option 21D : 67891316836
Option 31D : 67891316834
Option 4 1D : 67891316833
Status : Answered
Chosen Option : 1
Qf The formula for gravitational potential energy is:
Ans 1
X 1. U=-mv?
2
X 2 U=mhG
« 3. U=mgh
X 4 U=mgh,h,
Question ID : 6789134260
Option 11D : 67891317038
Option 2 1D : 67891317039
Option 31D : 67891317040
Option 4 ID : 67891317037
Status : Answered
Chosen Option : 3
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Question ID : 6789134206
Option 11D : 67891316822




Chosen Option :

Option 2 ID : 67891316821
Option 31D : 67891316823
Option 4 ID : 67891316824
Status : Answered
Chosen Option : 4
Q.8 4 2
o M = AW -, -FF +, + A x 933 x JH = 24, GG
80—10x5+4+10= 7
Ans x 1.575
X2 -78
W3 78
X 4 -75
Question ID : 6789134236
Option 11D : 67891316941
Option 2 ID : 67891316944
Option 31D : 67891316943
Option 4 ID : 67891316942
Status : Answered
Chosen Option : 3
L faoy fashm wur @Els T o7 s @e@ @ TIPT sm=?
77 foa:
fasg |§.95|33_!i:
A B &«
Ans ( 10
X 2D
X3 A
X 4B
Question ID : 6789134249
Option 11D : 67891316995
Option 2 ID : 67891316996
Option 31D : 67891316993
Option 4 ID : 67891316994
Status : Answered

1

Q.9




Chosen Option :

1 Silicon forms compounds with hydrogen which have chains of upto atoms.
Ans of 1 7 or8
K2 506
X3 8or9
X4 6or7
Question ID : 6789134272
Option 11D : 67891317087
Option 2 ID : 67891317085
Option 31D : 67891317088
Option 4 ID : 67891317086
Status : Answered
Chosen Option : 4
Qég For a number to be divisible by 8, the last digits must be divisible by 8.
Ans of 1.3
K22
X3l
X4 4
Question ID : 6789134201
Option 11D : 67891316802
Option 2 ID : 67891316804
Option 31D : 67891316803
Option 4 ID : 67891316801
Status : Answered
Chosen Option : 1
QP A 12:26 4 9B ARG A B (FEGEH W TG (@A AT Fo?
Ans of 1. 217°
X 2 217.5°
X 3. 204°
X 4 216.5°
Question ID : 6789134220
Option 11D : 67891316878
Option 21D : 67891316877
Option 31D : 67891316880
Option 4 ID : 67891316879
Status : Answered

1

Q.9 23
. Pteridophyta do NOT possess

Ans X1 leaves
v 2. flowers
X 3. stem
X 4 roots




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

6789134277

67891317105
67891317108
67891317106
67891317107
Not Answered

Q.9 fmfifie T@ Ik ==ET F99 952 ©F 77 (58T T9ea SaF fom
5

il

30

o

P, Q, R DT Fo ToRT 539W oE (9% Wi 945 St q9) ?

Ans x 1. 20

TET 9 9% GG 9% A, B, C, D (8 fe4aft ™H P, Q, R SoUmA@ T4 F@EI A TOT ITNG

v 2 20.6

X 3 20.8

X 4 20.5
Question ID : 6789134241
Option 11D : 67891316964
Option 2 ID : 67891316962
Option 31D : 67891316961
Option 4 ID : 67891316963

Status : Answered
Chosen Option: 2
°é9 FafifestE oy @@t IR 3% &, TE SEEE 5 TREE A6 IFT B FEm?
Ans x 1. g:!q_

X2 93

X3 o
Question ID : 6789134290
Option 11D : 67891317159
Option 2 ID : 67891317157
Option 31D : 67891317160
Option 4 ID : 67891317158

Status : Answered
Chosen Option : 4

7 Sm AmET ® (% TS feAT T @ O] I

Ans X'1.8 : 15 : 20
X2k 15 » 30
V38 : 15 : 30

Q9 A, BamC2:3: 5 7 PG Foe (&N FEC SE [SEEEE FEEE SeAe 76 4 ¢ 5 6l




Chosen Option :

Question ID : 6789134210
Option 1 ID : 67891316840
Option 2 ID : 67891316838
Option 31D : 67891316839
Option 4 ID : 67891316837
Status : Answered
Chosen Option : 3
Qég Find the odd man out from among the given options.
Ans 1. Hearing aid
/< 2. Spectacles
& 3. Artificial limbs
W 4 Goggles
Question ID : 6789134230
Option 11D : 67891316918
Option 21D : 67891316917
Option 31D : 67891316919
Option 4 1D : 67891316920
Status : Answered
Chosen Option : 3
Q.9 Name the actor-playwright who was conferred with the 2017 Tata Literature Live! Lifetime Achievement Award.
9
Ans 1. Anupam Kher
< 2. Om Puri
& 3. Amol Palekar
' 4. Girish Karnad
Question ID : 6789134285
Option 11D : 67891317140
Option 2 ID : 67891317139
Option 31D : 67891317138
Option 4 ID : 67891317137
Status : Not Answered
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Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID
Status :
Chosen Option :

1 6789134233

167891316932
167891316929
167891316931
167891316930

Answered
4




